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General Instructions :
1.

Candidate must write his/her Roll Number on the first page of the
Question Paper. '

Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as
those printed on the top of the first page. Also check to sce that the
questions are in sequential order.

For the objective type of questions, you have to choose any one of the four
alternatives given in the question ie. (A), (B), (C) or (D) and indicate your
correct answer in the Answer-book given to you.

All the questions including objective type questions are to be answered
within the allotted time and no séparatc time limit is fixed for answering
objective type questions.

Making any identification mark in the answer-book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the

candidate.
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1.

2.

Time :

qHq

Note :

el - ¥ R IS R O A e fod 1

FT - S S - e g aw sl @1 sa @ den & S e
g% & Tt S S0 ¥ @ A A o off @ of i v whvh w9 A €

Tefre wedl 1 s OR e (A), (B), (C) 39T (D) ¥ ¥ F§ TF I G ¢ A
A 7 3er-yRer § g e I fefan

TR v ¥ - W & s Fuffe el % i @ 33 €1 aegR g & fen
3T | TG @1 fean e |

sR-gfkaant o ggam-fog sAR e it wEl & afaRe wEl A sgpEie foe |
TR Rl ST BT STA

SCIENCE AND TECHNOLOGY
( fasm= wa wenfiet )

23 Hours | o (212) [ Maximum Marks : 85
23 T | | _ [QUTi : 85
(1) All questioris are compulsory.
(i) Marks arc indicated against each question.

q)  wit weR sfEr €

(i) I 9T % i I W U T §
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1. The SI unit of thermodynamic temperature among the following, is
(A)  Kelvin <~ (B) Degree celcius
(C) Fahrenheit (D) Second 1
fFrafefaa & @ Fwmias a9 #t S| @R €
T B) foit Aftag
© wrwRe” (D) qAHUE |
2. Correct unit of power is
(A) hertz (B) ~newton
\_,Lej/ watt (D) pascal 1
v 1 W aEe
(A) & (B) g
(C) T (D) YR=heT |
3. Thc number of neutrons in }380 will be
(A) 8 B) 9
ey 10 (D) 18. 1
180 f =il it wen g
A) 8 B 9
(c) 10 (D) .18

3
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4.  Reaction 2KNO, —5€8t, 2KNO, + 0, (g)
Which type of reaction is it ?
(A} Combination JB)/ Decomposition
(C) Displacement - (D) Double displacement.

sfufFar 2KNO , _FST 2KN02+02(g}1%ﬁqmﬁaﬁm%?

(a) FEH (B)  3FERA
(c) Forwm (D) Fferwme
5. If an object covers 22 metre distance in 10 scc, then speed of the object is
(A) 20 m/séc | \43)/ 2-2 m/sec
(C) 24 m/sec ] . (D)  zero.
afs ferdlt &g &RT 10@3503'&22#\21-@3113%%, Y = T T g
(a)  2-0 H/EFUE | (B) 2-2 H/AFTS
C) 24 W/AHTI . (D) H !
6 Solar cell converts light energy into which energy ?
(A) Mechanical energy (B) Electrical energy
(C) Thermal energy (D) Sound energy.
A T Y Fol F B FA A IR HA & ?
a) gt S ﬁ'/ forea Fett
(C) A FHe (D) & F
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7. Among the following which is not a fat soluble vitamin ?
(A} D B) E
€ K ﬂ" C. 1
Frtffiaa o @ a1 gereiel feh 78 & |
(A) D X B) E
€ K (D) C
8. The abiotic factor of ecosystem among the following is
(A)  Herbivorous \_(B]/. Temperature
(C) Carnivourous | (D) Omnivorous. 1
fnfefaa & @ wiRed &1 IS RS &
(A)  WRERY - (B) A
() e (D) weERt

9/ For decay of ozone layer which chemical among the following is responsible ?

(A) Carbon dioxide (B)  Chlorofluorocarbon

(C)  Nitrogen (D) Water vapour. 1
aﬁaﬁqm%w%mﬁwﬁ{f@ﬁﬁaﬁqﬁmﬂ#m# ?

(A) A SRIAHIES . TR

() A (D) TSy |
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12),/ Write any two essential characteristics of a unit,

11.

el

N

13.

T A & Rl Q) mgeaqut el it fafey |

Write any two benefits and defects each of Mendeleev’s pericdic table. 1+ 1=

AuIeAIs FY e RO & Wi I 0T T I I fefEw |

Write the formula of bleaching powder. Also write two uses of it. 1+1=
T TR w1 g fefan | <) sy ot fefan |

Explain the sequence of changes in atomic size in a group and in a period i1

the modern periodic table. 1+1=:

A 3t O T o] SRR F e st § uRed ¥ W A |

\y/;.:xplajn why, when we jump from a boat to the river bank, the boat moves ir

15.

the backward direction.

-
4

s B e W AN F W e @ e O ) e F 1y et ¥
o |

Give one example each of primary and secondary air pollutants. 1+1=2

rafog R fiedias arg ugws & Uw-ue 3gRIT SR |
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‘/,16'. | Select crop of Kharif and Rabi among the following : 1+1=2
" Potatoes, Barley, Cotton, Wheat.
frfofaa 3 @ @U% @ &= w5t wwa 5 sied
o], W, HIE, T |

17. Explain distillation method to separate a liquid from a homogeneous mixture

with labelled diagram. : 2+2=4

Tt frvsor @ 5 I F B S T T W AU T |

('/ 8. rite four points of importance of pH in daily life. 4x1=4

\.'.-ﬂ

e Silee & pH %m#wﬁﬁ%‘iﬁt{ |
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19. (a) Write Archimedes principle.
(b)  Write three applications of Archimedes principle. 2 +2=4
(a7) onfehE 1 fagra fafag |

@ onfwird & fagia & d7 s fafa |
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20. (a) Define work. Write SI unit of work.

lculate the
(b)  1J of work is done when a force of 001 N moves a body- Calc

. 2 +2=4
displacement.

(31) @ i oRowivm it | HEd @ S fafe |

() s Fedl fig W 001 N &1 5¢1 oen & = fhdl T wH 1 J ¢ ) faema &t
U AT |

21. What do you understand by reflection of light ? Write the laws of reflection.
2+2=4

TR % GUEET @ T T wHed € 2 Wiada & e fafe

55  Write any two characteristic features of phylum Echin_odgrmata. Write two

+2=4
examples also. 2

e sETERTeeT & i Y el ffan | R IeTeRT +f ferfa

23. (a) Why is Mitochondria called power house of a cell ?

(b)  Writc the names of necessary raw materials for photosynthesis. 2 +2 =4
(37) TEEHI-gaT B H TR &3 | FEATT & ?
(1) eEeT HYENUT % Fe vevadh et wAd & T fefee |

e713] 8 IR

T’

https://www.rajasthanboard.com

wod preoqueyiseler mmm//isdny



24.

'/’

wod preoqueyiseler mmm//:sdpy

#5212 ’

25

27.

https://www.rajasthanboard.com

Tu1 5o1 ST 91 ¢ 2 g8 2 ofad H e TTYERI § 2

.
27 What is Acid Rain ? Explain with labelled diagram.

et ISt FT & 2 ATk T H TEEAr ¥ Y |

(a)  Write the name of causative agent of Tuberculosis
(b)  Write two symptoms of the disease.

(c) Write any one preventive step.

() aufes AT & ArehRe & AW fAfEy |

() W & I A fer@y |

(@) = &1 Hi§ T 39 fafen |
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4x1=4

Write IUPAC names of the following :
(1) CH,OH (i) CH,COCH
() CH,COCH, (ivy CH;CIL
fFrfefes & 1UPAC A ffia
() CH,OH i CH,COOH -~
__Ail) CH;COCH, ~ (ivy CH,CIL
What is rain water harvesting ? How is it beneficial for everyday life? 2+2=4

1+3=4

1+2+1=4
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28.

29.

(@)  Writc the difference betveen displacement and decomposition reactions

with suitable examples.

(b)  Writc three characteristic properties of ionic compounds. 3+3=6
(37) IUg IO H Werdd ¥ fawneT vd sgue Ffafsraratt o e fafae |

(®)  smafvh it & 7 sifiremoe Tt fafag |

-{a} Explain the laws of refraction.
(b) Draw a ray diagram of image formation when the object is placed at one
of the foci ( F) of a convex lens.
(c)  Write the types of lenses used for removal of myopia and hypermetropia.
2+2+2=6
J 3 s & Fram w aE |

ﬂ(mﬁqmuﬁ%ﬂa%aﬁ#mﬁﬂwﬁﬁm,maﬁm%ﬁ@

WHE (F) W fega et

/(m' v .\mﬁgaﬂﬁﬁmﬂlﬁmﬁzﬂ%mw!
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30. a)
(b)
()
(30

()
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Define reproduction.

Explain with diagram any two methods of asexual reproduction.

Write the full form of AIDS. 1+44+1=6

S i afnfe st s

3TATTS T ) Rl Q) Tatuat @) wfes e |

65 AIDS ﬁr{nm%{ﬁaq |

| [+s212 |
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